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TN HRSEEAXA
My DoIAUNH
el EAEEIE 2 A=K (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Od3tsr HAAISY
170,000 x125+65 12,240
OEg A 50,0008 %x25+10S 1,000
Ozt ZALAISf 100,000& x25+8S 1,600
OddE ZAAIS 150,000 4 E+55 3,000
OObteF Al 30,0002 *55+20S 3,000
OANI? ZALAISf 43,2003 x55+20S 4,320
OJIE Al & 423
90,0003 * 13562 7,020
OXBA U BN 2 7,000
OXZA HHIAE U ADE 2Y(HAX
AHE) 100,000& 205 2,000
OBl %Z U 42E 7Y
250,000 *205 5,000
HAE2Xax 2E 11,800 6,400 5,400
201 2= 5,400 5,400 0
01 At22t2lt] 5,400 5,400 0
oget=ZH| 2,920
OHZHEME yEY 2Y 1,720
. SRS M 50,0002 102 500
. WELE #H S22 MH
122,000& * 102 1,220
OALXR 2¢ 25 00,0002+ 123! 1,200
o= 80,0002 462 480
CENEE P PN=F-t
500,000 42| 2,000
405 AtatE = 6,400 6,400
01 Tt =S F=HI 6,400 6,400
HAEAX A HIHIS 72 6,400
Ol &g &EI| 5,000,000 = 1CH 5,000
O=2A HIEII 1,000, 0002 *1CH 1,000
OFAJ| 400,000 1CH 400
XIOHAI 2 A 581,260 634,998 A53,738
Il 321,742
Al 124,219
Ea 135,299
ROt My 28 K& 467,503 520,225 NB2,722
) 320,337
Al 40,043
= 107,123
101 @124H| 34,720 34,720 0
Il 27,776
Al 3,472
T 3,472




TN HRSEEAXA
My DoIAUXH
chel: XIHKIRALS (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
M ORNZZENSE S 34,720 34,720 0
OEHAAN(1E) 2 34,720
O=g 686,000 x50 34,300
Il 27,440
Al 3,430
= 3,430
Ou=H| 100,0002 %12 100
) 80
Al 10
= 10
Ou=F0t| 240,000& %12 240
Il 192
Al 24
s 24
Ooul=Hl 80,000&+1 80
Jl 64
Al 8
T 8
201 Ler23| 161,735 215,825 A54,090
Il 129,387
Al 16,174
T 16,174
01 At22t2lt] 136,506 180,265 A43,760
oget=ZH| 39,889
OXItfetade 222 2
2,0002 *35+2, 000K 12,000
Il 9,600
Al 1,200
= 1,200
OXIHtAHE S22t & eSS M
1,000& 1,600 1,600
Il 1,280
Al 160
= 160
WEEZ)Y 2H=35 728
0,400& %102 1002 10,400
Jl 8,320
Al 1,040
[Ea 1,040
OdE AIRES 78 183,900& » 102 1,839
Jl 1,471
Al 184
o 184




SN HRSEEANL
HE: 20ALX
chel: XIHXI A (cre): 2ig
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OHE 8ZRHISE 72
300,000 *43] 1,200
| 960
Al 120
= 120
OJt=2tH 2928 +2
150,000 *43] 600
| 480
Al 60
= 60
OdASOINIHEEZ I Xt
200,000 »3CH+9E 5,400
J| 4,320
Al 540
= 540
OASENAUAL 2225 7
10,0002 %4004 4,000
| 3,200
Al 400
= 400
OXIHIIEH 5228 7
5,000 3004 1,500
| 1,200
Al 150
i 150
OXIH==cH s288 2
45,0003 *300H 2~ 1,350
| 1,080
Al 135
i 135
O%IEW=H| 1,000
OXIHERNE SSHI
100,000&*10H*12] 1,000
| 800
Al 100
= 100
oR2g=¢ 980
OXIGASIEAM & e+
70,0002 *7 B*23] 980
| 784
Al %8
= 9B
oul=t| 1,360
ORd= 80,000& 17 1,360
| 1,088




SN HRSEEANL
HE: 20ALX
chel: XIOHKIZ AL (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 136
s 136
ogx=z 93,276
OXIOHera Ml SEXE &R
960,000 x5CH* 122 57,600
Il 46,080
Al 5,760
2 5,760
OBAMEIA X2 AR
3,964,000 «1CH 92 35,676
Jl 28,540
Al 3,568
Ea 3,568
02 S3=gHl 19,230 24,560 25,330
osE2= & HA 12,730
OZLIHIOIE HIaSsS 01sdet
6,000& 12 72
Il 58
Al 7
o 7
OdlE! 88 olsdat
50,0002 +3CH =12 1,800
Jl 1,440
Al 180
[Ea 180
oRugss 10,858
o RIBE LELSR(eORPH)
6602 * 14,5002 9,570
) 7,6%
Al 957
= 957
. S)IRE g5 2,180 +50021 1,090
) 872
Al 109
= 109
o AOIXIZ 2] ASMHEAL e 2
E2(eJERH) 6602 1502 *23] 198
Il 158
Al 20
= 20
OAIE2 &= X 3,000
OdlEH Al & HHIRXIH
1,000,000 #32] 3,000
Jl 2,400
Al 300




TN HRSEEAXA
ZH: 201U
Sl XIOHKI &AL (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 300
(ONF=Fals] 3,500
Oxter 4 2 SXZE)
50,000& *5LH*22] 500
Il 400
Al 50
[ 50
Oxtg RFRH(EER3)
50,0002 +5CH* 122 3,000
Jl 2,400
Al 300
[Ea 300
03 Ar=EHI 6,000 11,000 /5,000
OXIoHIXIZ3 SEHSEs(HEH S)
10,0002 %10 »203 2,000
Jl 1,600
Al 200
= 200
OXIHHY R 2I2DHM S22 =29
200,0002 *202 4,000
) 3,200
Al 400
= 400
202 04l 9,528 14,790 N5,262
) 7,622
Al 953
s 953
01 SLHoIH 9,528 14,790 N5, 262
OXIOHer&IHIE 04| 9,528
OXIfetadliEe] 22 WS K|
231,000 8 1,848
Jl 1,478
Al 185
= 185
OXIOHHA MIES 2HLH 048I
80,0002 x8 * 122 7,680
Il 6,144
Al 768
o 768
204 AR A 4,200 5,250 21,050
Il 3,360
Al 420
= 420
03 E3g =3l 4,200 5,250 1,050




TN HRSEEAXA
HE: 20ALX
L XIOHKI R AR (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OO EEHI(AZFEHRIIRIOR)
50,0002 35/40+8% » 12& 4,200
Jl 3,360
Al 420
T 420
301 EtE NS 23,640 29,040 A5,400
Jl 18,912
Al 2,364
Ea 2,364
11 dALEEIXIRE S 3,000 6,000 /3,000
OXIONAIME! T2 AT bl 2A
3,000 %102 %1002 3,000
Jl 2,400
Al 300
[Ea 300
14 JIEt2d=3 20,640 23,040 A2,400
OHE T2 A 4
80,000& 502 4,000
Jl 3,200
Al 400
T 400
OXIOHo WA 2A=&
120,000 »223] 2,640
) 2,112
Al 264
2 264
ozzHA BELY
200,000 «2H =122 4,800
) 3,840
Al 480
= 480
OXNIEHEAA(UYREA) SE Ab)
10,0002 %10 * 122 1,200
Il 960
Al 120
2 120
OZ2L THOIY TR AN 42
80,0003 *507H A-#22] 8,000
Il 6,400
Al 800
[Ea 800
307 @120l & 233,680 220,600 13,080
Il 133,280
Al 16,660
[Ea 83,740




SN HRSSEATL
M ROIAAXR
A

el XIHAIA
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 22X &I 233,080 220,000 13,080
Oxlfozd === NE
43,0002 #250F « 12 129,000
Jl 103,200
Al 12,900
= 12,900
oxlHoizdl SS=23 N (MASS)
43,0002 «130E 123 67,080
OXIOHAIC, & H A
230,000 »1004 23,000
Jl 18,400
Al 2,300
2 2,300
OOl U DABD 22l ALH
35,0002 *400E 12 14,000
7l 11,200
Al 1,400
o 1,400
06 28= 600 600 0
O3s=2¢2 doi=d 200,000 34 600
D) 480
Al 60
o 60
XIHxIZ2teld] XIJ(HEAY) 112,000 112,000 0
Al 84,000
Ea 28,000
307 elztol & 112,000 112,000 0
Al 84,000
= 28,000
05 2ItRIE =S 112,000 112,000 0
OXIONXIZ 22l 2/l K&
112,000,000& 112,000
Al 84,000
[Ea 28,000
Atss=A A& 1,757 2,773 1,016
Jl 1,405
Al 176
Ea 176
201 er2 3| 1,757 2,773 1,016
Il 1,405
Al 176
= 176
01 At2teltl 1,757 2,773 1,016




SN

X XH -
o=

el XIHAIA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFNAS OXN U 29=
450,000 +3H 1,350
Jl 1,080
Al 135
T 135
OAMEIEAIZ DA (4Y) 101,750 4 407
Jl 325
Al 4
Ea 4
HH2LIH(ERSEEAHXA) 586,352 644,308 A57,956
Il 368,908
Al 46,113
= 171,331
J23H(gRSEEAX L) 586,352 644,308 A57,956
) 368,908
Al 46,113
s 171,331
Jl23tl(gRSEEAXL) 125,218 125,858 2640
201 er23 | 50,218 50,678 2460
01 At2teltl 50,218 50,678 460
Odgt+==H| 11,530
OsHHA=S 11,530,000& 11,530
©=E ] 8,000 *31&*134!x 12 33,683
202 04| 69,600 69,600
01 =LHO LI 69,600 69,600
OZLH0iH] 200,000 x28EH « 12 67,200
o220l 2,400,000& 2,400
203 HR=4AY] 5,400 5,580 A180
M A2 LIRFAI 5,400 5,580 A180
OFANEZHYE =AY 450,000 12& 5,400
Ol 2 HH|(XIOHRtAIAIE) 461,134 518,450 A\57,316
Jl 368,908
Al 46,113
Ea 46,113
101 @1A4H| 437,434 492,950 ~\B5,516
Jl 349,948
Al 43,743
= 43,743
02 JIEtME = 331,984 387,500 55,516
OAIZME DN (O, 8Y) 2= 331,984
OJlzs 2,600,000 ~8H 122 249,600
Il 199,680
Al 24,960




SN SRSERAXL
M HER2HAH(ZRSEEAHRIL)
gel: J2gHl(8RSEEANL) (S &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
i 24,960
OHdltHs 270,000 x8H + 12& 25,920
| 20,736
Al 2,592
i 2,592
Op == 80,0003 «8F 123 7,680
| 6,144
Al 768
i 768
OZAZ Al 140,000 +8F 122 13,440
| 10,752
Al 1,344
2 1,344
OAZtel2Rey
9, 160R x25A| 2H+8F « 123 21,984
| 17,588
Al 2,198
i 2,198
OExARE 110,000& 8% » 12& 10,560
| 8,448
Al 1,056
i 1,056
Ot AH| (5 350,000 *8H 2,800
| 2,240
Al 280
i 280
03 SRA(RINHS) 22X 2+ 105,450 105,450 0
OXIDHHAMIH2H (3Y) 105,450
oJles 1,750,000&*3F 123 63,000
| 50,400
Al 6,300
= 6,300
OJhete 375,000 x3F *12& 13,500
| 10,800
Al 1,350
i 1,350
OJEsY 80,0003 +*3F 123 2,880
| 2,304
Al 288
i 288
OHAXt=< 9,000 *8Al 2+* 102 *3H 2,160
| 1,728
Al 216




2A:
X XH -
o e

=aak

- SU(BIH) - MISAKY - BAS Oﬁfﬂ% HZE2

= 216
9,000& *20A| 2tx1.5x3H = 122 9,720
J| 7,776
Al 972
- 9re
3 140,000& *3H x 128 5,040
J| 4,032
Al 504
= 504
1,750, 000& *60%*3H 23 6,300
J| 5,040
Al 630
= 630
1,750, 000& * 10%*3H *x23 1,050
J| 840
Al 105
= 105
oI5 50,0002 #3214 122 1,800
J| 1,440
Al 180
= 180

204 AR LA 13,440 15,240 A 1,800
J| 10,752
Al 1,344
= 1,344

13,440 15,240 A 1,800

IIGI=NE: =)

140,000& 8= x 128 13,440
J| 10,752
Al 1,344
= 1,344

10,260 10,260 0
J| 8,208
Al 1,026
= 1,026

122X B8z = 10,260 10,260 0
22 NEgs8H=2S 10,260
135,000& 3 x 128 4,860
J| 3,888
Al 486
= 486
=0AHLBES 125,000& 3 x 128 4,500
J| 3,600
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